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ANV EREE GRS

:.23758
G {2 marks)

Total Liahilities & Shareholders® Equity 147000
Total Assets 144000
#AB Discretionary Financing Necded =B3-B2 [<E(B4<0, Suphs’ JFB4>0, Dbt Balanced )
(2 marks)

(2 marks)
oy
4, What is the value of cell B3 below? (_;O
STRRY.S ~ GAION =IF{AE\£D(BI+.BZ BSﬁ,_B_sco),BEBz&BS(i,} Fl 91:559;»5333_,9”1-}3%-3*3 'im" _
. 1
Unadjusted Cash Balance (3,775 .
. Currenit Borrowing BIT™ o
-\ B Current Tnvesting =IF(AND(B1+B2<$B$5.B5<0)B1+B2- SB36,IF(B1:E2o%4 341 B1+B2.8587.0))
Q- Ending Cash Balance (5,000 N4
&Y. Cunwlative Borrowing {Invest (5.000
49) Minimum Acceptable Cashe R | 15,000
\‘/\I Maximimm Acceptable Cxh” 15.000
(2 marks)
% A\
OQ‘ . - OQ
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OO
5. What is the value of C27? NN

C/\()){\l FIDENTIAL

6| MonfHly [ 0.50%

§ Leqing Rate (Annnaly 6%|Monthly | 0.20%

Q
v

N (2 marks)
n}%
)
Qj?* _ |
6, What is the value of cell C2 below? uy
\} STDEV.S v =IF{C2>B2,($BSA! )*AVERAGE{Bz:c2],$B§s*AVERAGE[Bzzcz}] _
) 1
O Sales $100,000 | $200.0004-
Parmer Salaries L5%|=TF(Clx82 (SBS3 +5%)*AVERAGE(B2.C2),SBS3*AVERAGE(B2.C2))
& .
v (2.5 marks)
¢
| 00
7. What shouid be the formula on cell B6? . .G J
oo R
$5.000,000 | .S
2,000,000 o
1,500,000 o
A Earnings Before Interest and Taxes | 1,500,000 ,\f\‘;\
OO‘ ia 1.28 \
@) 7
Q:c"’ (2.5 marks)
O A
,6') 8. What should be the correct for@ﬁ!a for cell B§?
A 4 sl
| $5,600.000
2 000,000
1,500,000
1,500.0G0 -
166,000
$50 OQ*
Variable Cost per Microship $20, C
Degree of Operating Leverage ? )
&
2.5 marks
Oq.\ ,&Q}* ( )
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9.  Whatghould be the formula on cell B5?
4 ~[9.000,000
| 3,000,000
QX" Wseling Price 50
\:{b Variable costperurit 130 g
Cash brealc-even point |? QO
10.

$600.000

$700,000

3026 $0.20

0&"
12. a for cell B6?
ncome 5,5 | $ 15,000,000
r—— 7
'O@\
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(2.5 marks)

(2.5 marks)

(2.5 marks)

(2.5 marks)
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13.

16.

What should be the correct formula for cell RZ‘{’ 5

60%

Before Tax Cost of Debt

7%

Cost of Preferred Stock

3%

Weight of Preferred Stock

10%

e s

(50,000.00)

. 20,000 06X

(PR R o ]

ulain

Cost |

628 200

72,658

352,100

36,418

1,245 600

212,150

1,873.8G0

284 808

2
!
o

What is the formula for C47 .

Ky
R
00

Reenario

Brobgbfiies NPV

Worst Case

,\Q)\ 0.2

($198.083 40)

Base Case

\% 06

$91,275.55

Best Case

02

?

Expected NPV

166303052
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17. B8?
Dis unt Securities )
J|Setilenat Date 2/15/2011
f Matady Date 811512011
" R@mptmn Valne 100
Purchase Price 98.5
ays to Matarity 181 Q—\
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) . ’
\,>’ A factory supplies chairs and tables to playschools around Klang Valley. They sell each chair
for RM1.76 and each table for RM4.40 based on the following calculations:

Chair department Table department
No. of units 100,000 20,000
Cost of material RNMAB0,000.00 RM 35,000.00
* | Cost of labour RU™40,000.00 RM 20,000.00
| Fixed cost M RM 40,000.00 RM 25,000.00
Total cost .RQ4{' RM 160,000.00 RM 80,000.00 Ky
O Cost per unit X | RM 1.60 RM 4.00 OQ
Plus 10% prafl® RM 1.76 RM 4.40 O
N S
)

They receive an offer from a school to supply an additional 10,000 chairs 2,000 tables for
the price of RM1.05 and RM3.50, respectively. The financial adviseb%dvices the factory
manager not to take the offer because the price does not even coverthe cost of production.

a. Is the financial advisor correct?

{2 marks)
b. (a:\State your reason for (a).
G . (3 marks)
jc. Show the calculation to obtain minimu;{?\selling price per unit of chair and table, to
e support your reason in (b). U :
& ©
(D\’}(;b 3 (aharks)
R O

d, The management is conside&% buying a new machine which cost RM60§000 and its
expected life spanis 5 yea&. The machine is expected to reduce the-ﬁr duction cost
by RM15,000 annually, Yhe terminal value of the machine is (@320,000_ hut the
management believes that it would only manage to sell it @\RW0,000. If the
appropriate discount rate is 15% and the corporate tax is 35% calculate the project
NPV. Should they consider to accept the project?

(10 marks)
N N EE P IARES]
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Selling Price RM70 RM90
Unit Sales - OQ“ 1,200,000 800,000
Times lncgélést Earned Ratio 8 g E
Vari&@é Costs (% of Sales) 57% 55%. |
‘F(gpﬂ Costs P *RMS,OO0,000 RM12,000,000

sJReturn on Common Equity (JO‘ 11% 10%
Common Equity n{% - RM120,000,000 RM1 10.(1%20\000
Common Shares Q}L\' © 13,000,000 12(,-)&@0,000

O R -
a. U§ipg the financial data given in the above table, create income st@nents for each

firm. Assume a common tax rate of 40% for each company. \’J{,’b

(10 marks)
b. Determine the break-even points in both units.and RM, and the degrees of operating,
financial, and combined leverage for each firm.
Q ey
') . (10 marks) 'S}
O ‘ 9
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I o
QUESTONE O
Pancaran Berlian Berhad., a manufacturer of ¢ ‘&‘nsand graphite products for the metal
production, electronics, aerospace and a@&ortation fndustries, is considering several
funding alternatives for an investment préj’ect. To finance the project, the company can S@Q
1,000 15-year bonds with a RM1,000 face value, 7% coupon rate. The bonds re an
average discount of RM50 per bond and flotation costs of RM40 per bond whé gb%lng sold.
The compgly can also sell 5,000 preferred stocks that will pay a RM2 divit{e/‘c'@)per;,share ata
price e}f@ 40 per share. The cost of issuing and selling preferred stocks is expected ’t_o' be
RM% per share. To calculate the cost of common stock, the company uses the dividend
b@Tscount model. The firm just paid a dividend ’of RM3 per common share. The compéﬁy
,{\’;\L expects this dividend to grow at a constant rate of 3% per year indefinitely. The flotation costs
for issuip_g new common shares of stock are 7%. W%ompany plans to sell 10,000 shares at
a price of R,-M_SO per share. The company's tal)%rﬁte is 40%.

| N
O a. Calculate the company's after-tax?@ét of long-term debt. OOQ
o8
\ Y
\:@ (@h%’rks)
b. Calculate the Company's cost of preferred stock. &/\1)/\"‘?\
- v
(_,OQ (4 marks)
c. Calculate the company's cost clt&mmmon stock.
Q_’Q&' (4 marks)
d. OQ—\Calculate the compans@n@veighted average cost of capital.
N © (4 marks)
oy
?(.{“ e, What would be the company's weighted average cost of capital without flotation
Qﬁb@ costs? OQ~L
@
in% (4 marks)
,\1}?
&
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QUESTHONES
S
One Mega Cleaning Berhad has some new prod).@ts that it expects to lead to high gro&ih in
N
the near future, it has given analyst the followiﬂgforecast for the next three years: OQ
N O

Depreciation RM15,000 RM21,000 27,000 - .

EBIT RM125,000 RM145,000 ,,__Q'RM’IGS,OOO
Investment in Operating Assets RM35,000 RM25,000 @y | RM10,000
- s f \’
AV,

The firm’s debt has a current market value of RM250,000 and it has RM64,000 in marketable
securities. There are 500,000 common shares outstanding. The expected tax rate is 38% and
the WACC is estimated to be 15%. '

A

aeq Calculate the free cash flow for each of the next three years.

@) (9 marks)

(“} b. After 2018 free cash flow growth is expect@\to slow to 8% per year permanently. What
is the value of the stock today? O <\

_i('-J O@g marks)

R
c. Without the new products, frea_gésh flow in 2016 would be RMSSK’gIJ% and it would
grow at 8% per year foreva\*}(ﬂhat is the value of the stock if th&ﬁre\rv products aren’t
introduced? ' a\”b\
AV,

(3 marks)
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(;f\ FORMULA SHEET

o

Current Assets

Curréngalgdtia = (times)
-\

Current Liabilities

Qu (times)

R o
,\;@ cor T Ratio = Cost of Goods Sold " -\
N nventory Turnover Ratio = Inventory ((J éQs

. . Current Assets — Inventories
Ratio = ‘ —
', Current Liabilities

Credit Sales

AR Turnover Ratio = Account Receivables (tlmb)

Accounts Rec bles d Q‘\
CTedits&g&#/%o (days)

Salaé}'

Net Fixed Assets

Average Collection Period =

Fix Asset Turnover Ratio = (times)

Total Asset T: Ratio = —S285 i &
otal Asset Turnover Ratio = m—mr——— (timies) QS

Total Liabilities _ Total Assets — Total Equity Y%
Total Assets Total Assets

Total Debt Rgtio =

Long — Term Debt
Total Assets

Long Term Debt Ratio =

LTD
LTD + Preferred Equity 4+ Common Equity

Long Term Deth to Total Capitalization Ratio =

Debt to Equity = Total Equity

Total Debt Od‘\
O

LTD S
Preferred Equity + Common Equity

o (_;t (E 4 Ratio = EBIT
inies Interest Earned Ratio = Interest Expense Q‘\

& ‘ . EBIT + Noncash Expenseg
Rash Coverage Ratio =
53 Interest Expenses &y

Q
G Profit
\’} Gross Profit Margin = M QC\L

Sales Q.; "

Net Operqping Income
Yales

A
Long T&m Debt to Equity =

Operating Profit Margin =

Net Profit Margi Net Income
T0 = —F
e argin Sales
Net Income

Return on Total Assets = —————
Total Assets

Net income _\

Return on Equity = W Q

Net income Available to Conkyon

Return om)fommon Equity = Common Bqui ty_-\“.)

C = o
E%!DB% FINANCIAL MODELLING R Page 1 of 2"
Q- o)



CONFIDENTIAL

A
Return On E 1&? _ Net Profit Margin X Total Asset Turnover ~ Q
eivrn Un bquyty = 1 — Total Debt Ratio O

& v

A _ %AinEBIT _ Q@B-V)
De greé Yé‘lf Operating Leverage = m —lQ@ —V)—F

Y.
Q . _ %A in EPS (Ce EBIT
Deg@ee of Financial Leverage = %A in EBIT '\IEBT __PD

a-9
Degree of Combine Leverage = % = DOL X DFL
_ FCF,
Common Stock Value W—b&Nonopemtmg Assets — Vp —Vp Q"\
O
J-J C
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